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voild mainOf I Dimsu() As Variant
inf sufl={11,0,0 10,1} Dim a, cnt, pa As Integer -
- Imtaenlpa; ?ﬁ - sti= Array ?_(1} 1,0,0,1,0, 1)
ent=0G;pa=0; cnt=0:pa=0.
for(a=0;a<=b;a++) | Fora=0To6
T Hsu{@=1Then =
N _ — — - o Cif(sufal==1 b ent=cent+1
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ifent%2==60y. If ent Mod 2 = 0 Then
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oy Printpa
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Ainclude <stdioh> Pmate Sub Form_Activate()
voidmain()}{ -~ - - Dimx() As Variant ~ -~~~ -
int x| ] ={10,20.20,3030,301:|  Dima, cnt, su(5) As Integer
diatsal6 | x() = Array(10,20,20,30.30,30)
Ciata,ent=0: | su@=x©
csu{0f=x{0f - : | _F ora=1To5
- forfa=1;a<=5;a++y |  Iix{@ <x(@-1)Then
- ifx{abl=xfa-tl) o ent=cnt+1 -
DT ST - © S I, sufcot) =x(@ .
~oooont=ent+ oo Bedloo
0 sufenti=x[al; | Nexta
b :- :- : ~Fora=0locnt - - -
f{}t'(a = {): a{mmt,ﬁaﬁ) ..... Print sua:
- oprintf("%d 7, sufal); : :- : CNexta
:}.: o | EBndSub
D 60 2 140 310 20 30
@30 20 10 30 30 30 20 20 10

@D

2

3 scanfar InputBoxar-
D do~while Do

(D) switchi Select-

10. the oM A s 2Rel A4

71.8.9

8] wo] Al o ':' __________ R
]T . ]] ----- ,01 L ?]’f f f ‘4— o =
D -d-°% @4-d-u4 @u-7-g
@I - - 7 5 o - 1} - 7}

11. 17¢ 107bA1 ] Hsum)= 7

27 [34]
B T OO £ A N Blaed o] do]
ol k=0sum=0; . |k=O0sim=0
| while@e<1Of - o ) DoWhilek<10 -
b sume=sum 4k k=k+1l o sum=sum+ ki k=k+1
oy e
G k=Lsum=0; . |k=Lsum=0 =
| whiletk==10)1 D?Wﬂﬁk.{f o
e sum=sum+ ki k=k+l o sum=sum+kik=k+1
oy dloop.
o k=0sum=0; pk=Osum=0
o while(k =103 - - Do Whilek«<=10 -~ - - -
Sl k=k+Lsum=sum+k; | k=k+l:sum=sum+k .
oty St keep s
ot k=Lsum=1; 0 tkshsum=1 -
o Iwhiletk<1{ - | DoWhilek<10 - - -
=l k=k+Lsum=sum+k; | k=k+lsum=sum+k.
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